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INSTRUCTION:

Answer all the questions. Show your working. It may help you to get marks.

Question 1 (CLO1, C2)
Shade intheset AU (BN C")

\

Question 2 (CLO1, C2)

(a) Given the relation R = {(1,1), (2, 2), (3, 3), (2, 4), (4, 2), (3, 4), (3,1), (1,3)} onthesetA=
{1,2,3,4}.

(i) Draw the digraph on the given relation R.

\/" [2 marks]

J

(i)  Determine whether R is reflexive, R is ymmetrlgﬁnd R is transitive. Explain
your answers. —
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INSTRUCTION:
/
Answer all the questions. Show your working. It mayKheip you to get marks.

Question 1 (CLO1, C2) (‘m,k;gec:\' Ceanvnrow)
Shade intheset AU (Bn ¢
[2 marks]

c’=1,2(3@
E = @4@’118

B C 7B
A = 2.3%¢

U ke all = AUCBNC! )
Shede = 2,37, 9,4

Question 2 (CLO1, C2)

(a) Given the relation R = {(1,1), (2, 2), (3,3), (2, 4), (4, 2), (3, 4), (3,1), (1,3)} on the set A =
{1, 2,3, 4}.

(i) Draw the digraph on the given relation R.

[2 marks]
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(ii)  Determine whether R is reflexive, R is symmetric, and R is transitive. Explain
your answers.

1) Reflexve y [6 marks]

R i« not o reflexive Lecauyge 21,202,303 Lot 4@y

a) Symnmetvc '}/

R 1S rot symmetic becausg/1R3 301 42 2R4 B0U bt 4K3
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INSTRUCTION:

Answer all the questions. Show your working. It may help you to get marks.

Question 1 (CLO1, C2)
Shade intheset AU (Bn ")

[2 marks]
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=1,2,3,4,5

Question 2 (CLO1, C2)

(a) Given the relation R = {(1,1), (2, 2), (3, 3), (2, 4), (4, 2), (3,4), (3,1), (1,3)} on the set A =
{152, 3, 2}

(i) Draw the digraph on the given relation R.
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[2 marks]

(i)  Determine whether R is reflexive, R is symmetric, and R is transitive. Explain

your answers. i ’- 4 R /‘ ‘~. o~
‘ r@/ A () E \Q >

Lefle xjye |6 marks]
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Answer all the questions. Show your working. It may help you to get marks.

Question 1 (CLO1, C2)
Shade intheset AU (BnC")

[2 marks]
(= [/, 2’(3)@3
B- [@@5, f/?

KnCLZr%z/j

Question 2 (CLO1, C2)

(a) Given the relation R = {(1,1), (2, 2), (3, 3), (2, 4), (4, 2), (3, 4), (3,1), (1,3)} on the set A =
{1, 2,3, 4}. : ‘

(i) Draw the digraph on the given relation R.
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[2 marks]

(ii) Determine whether R is reflexive, R is symmetric, and R is transitive. Explain

. s your answers. ~
R 15 Y - L‘L
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Answer all the questions. Show your working. It may help you to getma/lfks

Question 1 (CLO1, C2)
Shade intheset AU (BnC")

[2 marks]

Question 2 (CLO1, C2)

(a) Given the relation R = {(1,1), (2, 2), (3, 3), (2,4), (4, 2), (3,4), (3,1), (1,3)} on the set A =
{1,2,3,4}.

(i) Draw the digraph on the given relation R.
[2 marks]

(ii)  Determine whether R is reflexive, R is symmetric, and R is transitive. Explain
your answers.
[6 marks]

\\

AP i |
DR is rf>? becayse, C1R3Y BRI ) and (2R%4Y, (4R2)
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INSTRUCTION:

Question 1 (CLO1, C2)

Shadeintheset AU (BnC")
[2 marks]

pac ﬁ’i ‘f% c’%
A=823,7,5% G z{s 4 ,g,ﬁ?}r
Question2 (cLo1,c2) AU(BNC)=g, 5., 2SI

(a) Given the relation R = {(1,1), (2, 2), (3, 3), (2, 4), (4, 2), (3, 4),(3,1), (1,3)}onthesetA =
{1,2,3,4}.

(i) Draw the digraph on the given relation R.
[2 marks]

(ii) Determine whether R is reflexive, R is symmetric, and R is transitive. Explain
your answers.
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Answer all the questions. Show your working. It may help you to get ma
Question 1 (CLO1, C2)
Shade intheset AU (Bn ") Nexrsed - conpron
28
et [2 marks]
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Question 2 (CLO1, C2) 2 {2 54,7, 8}
(a) Given the relation R = {(1,1), (2, 2), (3, 3), (2,4), (4,2), (3 4), (3.1), (1 3)} onthesetA=
{1, 2,3, 4}. " )
(i) Draw the digraph on the given relation R. ‘rJ

[2 marks]

T 2L , b y 2

(i) ~ Determine whether R is reflexive, R is symﬁtric, and R is transitive. Explain
your answers. T
not - )
R lS reglexive beea use 3, Rl,( bu+ l/./,é/g :

[6 marks]
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Answer all the questions. Show ybur working. It may help you to get marks.
Question 1 (CLO1, C2) | Ao(endt €103 O E7a, B
5
Shadeintheset AU (BN (") "2\‘("’5’9’3
[2 marks]

uestion 2 (CLO1, C2
Question2 (CL01, €2 oo

/s /7
(a) Given the relation R = {(1,/1), (2,/2), (3,/3), (2,4),(4,2),(3,4),(3,1),(1,3)} ontheset A =
1,2, 3, 4}

) Draw the digraph on the given relation R.

'/\ [2 marks]
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(i)  Determine whether R is reflexive, R is symmetric, and R is transitive. Explain

your answers. 2B1, 262 ,3R73 wtnot L{K/'q
AP Weﬁ_%—%wﬁ—%
R = ZS ﬂ Te® ex\ve betause / 4 [6 marks]
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INSTRUCTION:

Answer all the questions. Show your working. It may help you to get marks.
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Question 1 (CLO1, C2) / Qe C
Shade intheset AU (B @

\L [2 marks]

Question 2 (CLO1, C2)

(a) Given the relation R = {(1,1), (2, 2), (3, 3), (2, 4), (4, 2), (3,4), (3,1), (1,3)} on the set A =
{1, 2,3, 4}.

(i) Draw the digraph on the given relation R.

[2 marks]
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(i)  Determine whether R is reflexive, R is symmetric, and R is transitive. Explain

your answers. /
O Ry Not YK IYE vecaUse Anere ave ony [6 marks]
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